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I. A company is considering two mutually exclusive proposals ‘X’ and ‘Y’. 14

Proposal ‘X’ will require the initial cost of ¥ 2,40,000 with a salvage value of
% 15,000 and will also require an increase in the level of inventories and receivables of
< 1,35,000 over its life. The project will generate an additional sales of ¥ 3;00,000 p.a.

and will require cash expenses of ¥ 1,05,000 each year of its 5 year life. Depreciation
will be charged as per straight line method.

Proposal ‘Y’ will require an initial capital of ¥ 4,05,000 with a salvage value
of ¥ 30,000 and will be depreciated on straight line basis. The expected earnings before
depreciation and taxes during its life are as follows :

<
First Year 1,65,000
Second Year 1,95,000
Third Year 1,3-5,000
Fourth Year 1,65,000
~ Fifth Year 2,25,000

The company has t0 pay corporate income-tax at the rate of 50% and is evaluating
projects with 12% as the cost of capital.

(i) Which of the project is acceptable under the Net Present Value method ?

(i) Wi]l it.make any difference to the above decision if profitability index is
employed ?

The present value of T 1 at the discount rate of 12% p.a. for the first five
years is 0.893, 0.797, 0.712, 0.636 and 0.567 respectively.

OR
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The management of Parth Limited is considering to select a machine oyt of two
machines. The company’s cost of capital is 12% and tax-rate is 30%, other
information is as follows : | 14

Machine - ‘A’ Machine - ‘g

Cost of Machine X 15,00,000 X22,50,000
Expected life - 5 years 6 years
Annual income before tax and depreciation < 5,17,500 < 6,82,500

Depreciation is to be charged on straight line method.

You are required to :

(i) Calculate Discounted Pay-back period, Net-Present Value and Internal Rate
of Return for each machine.

(i)  Advise the management as to which machiné they should take-up. '

The present value factor of T 1 are as follows :

Year 1 2 I 4 5 6
12% 0.893 | 0.797 | 0712 | 0.636 | 0567 | 0.507
13% 0.885 0.783 0.693 0.613 0.543 0.480
14% 0.877 0.769 | 0.675 0.592 0.519 0.456
15% 0.870 0.756 0.658 0.572 0.497 0.432
16% 0.862 0.743 0.641 0.552 0.476 0.410

2.  Answer the following questions : (Atterﬁpt any two)

14
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(A) " Fromthe following data, state which project is better :

Project A B
Cash flows 3 3
Year 0 - 25,000 — 25,000

B 10,000 12,500
2 10,000 15,000
3 5,000 7,500

10
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Riskless discount rate 1s 5%,

Project-
for Project A & B for

of T 1 are as follows :

Year 1
3% 0.952
10% 0.909
15% 0.870

2 3
0.907 0.864
0.826 0.751
0.756 0.658

Project-A is less risky as compared to
B. The management considers risk rates at 5% and 10% respectively

discounting the cash inflow. The present value factor

(B) R. Ltd. is considering one of two proposals, project ‘x> and ‘y’, which

require cash outlays of ¥ 21,25,000 and % 20,62,500 respectively. The
current yield rate on Government bond is 6% and it is used as risk free rate.

r-

Project — x Pr_uject -y
Year End | Cash flow | C.E. | Cash flow C.E.
3 4
1 11,25,000 D.; 11,25,000 0.9
2 12,50,000 | 0.7 11,25,000 0.8
3 I 12,50,000 | 0.5 12,50,000 0.7

The expected net cash flows and their certainty equivalents are as follows :

Present value factor of ¥ 1 discounted at 6% at the end of year 1, 2 and
3 are 0.943, 0.890 and 0.840 respectively.

You are required to guide the management about which project should

be accepted.

(C) Explain Decision Tree analysis.

(D) Explain Sensitivity Analysis in cash flow estimate.

11
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3. Division of Vivan Company has prepared the following forecast for the year 2037 -

14
Particulars T
Profit before depreciation 1,75,000
Depreciation 43,750
Net current assets on 1-1-2022 87,500
Net fixed assets on 1-1-2022 3,50,000

The company’s cost of capital is 10%.

The division is considering selling a fixed asset with a net book valug.of ¥ 3,125
which, after depreciation of 4 ],05{5, generates a profit per annum of T 5.250. The
proceeds and a subsidy from head office would be used to purchase a new machine for

X 35,000 which would génerate an annual profit of ¥ 10,500 after depreciation of
< 2,625.

Compute :

(1)  Assuming division does not sell and replace the machine, using the opening
balance sheet values, calculate :

- the division’s rate of return on imvestments
—  the division’s residualdncome

"(i1)  If the machine is sold and replaced, calculate :
- the division’s'rate of return on investment,

- the division’s residual income.

OR

(a) What s Profit Centre ? State its merits and demerits. 7
(b) The operating information of three divisinhs "A’, 'B’ and ‘C’ of a company for the

year 2022 are as under : 7

Division — A | Division — B | Division — C
Particulars -
" 3

Sales 45,60,000 2,04,00,000 2,40,00,000

Operating profit 2.40,000 6,00,000 12,00,000

Investment 24,00,000 75,00,000 96,00,000
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(1) On the basis of Operating Profit Ratio, which division is most profitable ?

(11)  On the basis of Return on Investment (ROI) in each division, which division

Is most profitable ?

(1)) From the above two, which measure is more desirable ?

4. A company has two Divisions : Division A and Division B. Division A has a Budget©f

selling 3,30,000 Nos. of a particular component X to fetch a return of 20% on the

average assets employed. The following are particulars of Division A : 14
Particulars 4
Fixed Overheads 8,25,000
Variable Cost < 1 per unit

Average Assets :

Sundry Debtors 3,30,000
Inventories 8,25,000
Plant & Equipments 8,25,000

However, there is constraint in marketing and only 2,47,500 units of particular

component X can be directly sold to the external market at the proposed price.

It has been decided that the balance 82,500 units of component X will be taken up
by Division B. Division A wants a price of ¥ 4 per unit of X but Division B is prepared
to pay < 2 per unit of X,

Division'A has another option in hand, which is to produce only 2,47,500 units of

component X. This will reduce the holding of fixed assets by ¥ 3,30,000 and fixed
overheads by € 41,250.

Youare required to advise the most profitable course of action for Division A.

OR
(a) Write short note on : Economics of Transfer pricing. 7
(b) Explain International Transfer Pricing. | 7
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5. Choose the correct option : (any seven)

(1)

(2)

3)

(4)

(5)

AD-107

IRR is
(A) Cutoffrate (B) Hurdle rate
(C) WACC (D) All of the above

Out of two mutual exclusive projects, which project will be selected ?
(A) Whose coefficient of variation is lowest.

(B) Whose coefficient of variation is highest.

(C) Whose coefficient of variation is equal to IRR

(D) Whose coefficient of variation is equal to WACC

Depreciation is included in cost in case of’

(A) Accounting rate of return method

(B) IRR method
(C) Pay-back method

(D) None of the above

Under which method cash in flow of each year is re-invested ?

(A). Terminal Value (B) Net Present Value

(C): Pay-back period (D) Internal Rate of Return

To take capital budgeting decision is decision.

(A) Present (B) Past

(C) Future (D) None of the above
14
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(6) The basic purpose of Responsibility Accounting System is

(A) Budgeting (B) Variance analysis

(C)  Authority (D) None of these

(7)  Responsibility Accounting is a part of

(A) External Reporting System
(B) Internal Reporting Systém
(C) Corporate Reporting System

(D) None of these

(8) Responsibility centres include

(A) Price centres (B) Investment centres

(C) Supply centres . (D) Production centres

e ——

(9) A Company’s ROI would generally increase when
(xf\) Assets increase (B) Cost decreasé

(C) Cost increase (D) None of these

(10). Transfer pricing is concerned with

(A) Intra-divisions of an organization
(B) Inter-organisational transfer

(C) Both of the above

(D) None of the above

AD'107 15 P.Tl 0!
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(11) Popular method of transfer pricing is -

(A) Market based pricing (B) Cost based pricing

(C) Negotiated pricing (D) Opportunity cost pricing

(12) Transfer pricing is useful for

(A) evaluating performance of a department

(B) evaluating performance of an enterprise o ’

(C) calculating cost of a product

(D) All of these

O
>
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